
2024
September







TABLE OF CONTENTS

MAKE PAGE

ACURA 6 / 7

HONDA 8 / 9

HYUNDAI 10 / 13

ISUZU 14 / 15

KIA 16 / 18

PEUGEOT 19 / 21

4



ACURA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5 info@riw.com.tr



ACURA

SLX 1996 - 1999

Image Product Code and Description Details OEM

IS4004

LINK STABILIZER REAR

Weight : 0,311 kg  / 0.686 lb
Material Type : Metal
Length : 91 mm  / 3.58 inch
Ball Pin Thread Size : M10X1,25

8970181251, 8970181252
MK80300

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6 info@riw.com.tr



HONDA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7 info@riw.com.tr



HONDA

ACCORD X 2018 - 2022

Image Product Code and Description Details OEM

HN9031

CONTROL ARM REAR UPPER RH
Weight : 1,726 kg  / 3.805 lb
Material Type : Metal

52510-TVA-A00

HN9032

CONTROL ARM REAR UPPER LH
Weight : 1,726 kg  / 3.805 lb
Material Type : Metal

52520-TVA-A00

HR-V RV5 2022 - 

Image Product Code and Description Details OEM

HN2058

TIE ROD END RH
Weight : 0,486 kg  / 1.071 lb
Length : 189 mm  / 7.44 inch

53540-3M0-003

HN2059

TIE ROD END LH
Weight : 0,486 kg  / 1.071 lb
Length : 189 mm  / 7.44 inch

53560-3M0-003

HN4090

LINK STABILIZER FRONT RH

Weight : 0,345 kg  / 0.761 lb
Material Type : Metal
Length : 86 mm  / 3.39 inch
Ball Pin Thread Size : M10X1,25

513203M0J01

HN4091

LINK STABILIZER FRONT LH

Weight : 0,345 kg  / 0.761 lb
Material Type : Metal
Length : 86 mm  / 3.39 inch
Ball Pin Thread Size : M10X1,25

513253M0J01

INSIGHT III 2018 - 

Image Product Code and Description Details OEM

HN9031

CONTROL ARM REAR UPPER RH
Weight : 1,726 kg  / 3.805 lb
Material Type : Metal

52510-TVA-A00

HN9032

CONTROL ARM REAR UPPER LH
Weight : 1,726 kg  / 3.805 lb
Material Type : Metal

52520-TVA-A00

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

8 info@riw.com.tr



HYUNDAI

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

9 info@riw.com.tr



HYUNDAI

SANTA CRUZ I NX4 2021 - 

Image Product Code and Description Details OEM

KI1020

BALL JOINT FRONT LOWER Weight : 0,952 kg  / 2.099 lb 54500-P2000*, 54501-P2000*

KI2039

TIE ROD END RH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56825-P2000

KI2040

TIE ROD END LH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56820-P2000

KI6067

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 5,525 kg  / 12.181 lb
Material Type : Sheet Metal

54501-P2000, 54501-P2050

KI6067J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

Weight : 4,565 kg  / 10.064 lb
Material Type : Sheet Metal

54501-P2000*, 54501-P2050*

KI6068

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 5,525 kg  / 12.181 lb
Material Type : Sheet Metal

54500-P2000, 54500-P2050

KI6068J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Weight : 4,565 kg  / 10.064 lb
Material Type : Sheet Metal

54500-P2000*, 54500-P2050*

KI11021

BUSH INNER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,596 kg  / 1.314 lb

54501-N9000*

KI11022

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,422 kg  / 0.930 lb

54501-N9000*

SANTA FE IV TM 2018 - 

Image Product Code and Description Details OEM

KI1020

BALL JOINT FRONT LOWER Weight : 0,952 kg  / 2.099 lb 54500-P2000*, 54501-P2000*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

10 info@riw.com.tr



HYUNDAI

SANTA FE IV TM 2018 - 

Image Product Code and Description Details OEM

KI2039

TIE ROD END RH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56825-P2000

KI2040

TIE ROD END LH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56820-P2000

KI6067

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 5,525 kg  / 12.181 lb
Material Type : Sheet Metal

54501-P2000, 54501-P2050

KI6067J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

Weight : 4,565 kg  / 10.064 lb
Material Type : Sheet Metal

54501-P2000*, 54501-P2050*

KI6068

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 5,525 kg  / 12.181 lb
Material Type : Sheet Metal

54500-P2000, 54500-P2050

KI6068J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Weight : 4,565 kg  / 10.064 lb
Material Type : Sheet Metal

54500-P2000*, 54500-P2050*

KI11021

BUSH INNER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,596 kg  / 1.314 lb

54501-N9000*

KI11022

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,422 kg  / 0.930 lb

54501-N9000*

SONATA VIII DN8 2020 - 

Image Product Code and Description Details OEM

KI2039

TIE ROD END RH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56825-P2000

KI2040

TIE ROD END LH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56820-P2000

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

11 info@riw.com.tr



HYUNDAI

TUCSON NX 2021 - 

Image Product Code and Description Details OEM

HY6115

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 4,802 kg  / 10.587 lb
Material Type : Sheet Metal

54501-N9000

HY6115J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

Weight : 4,044 kg  / 8.915 lb
Material Type : Sheet Metal

54501-N9000*

HY6116

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 4,802 kg  / 10.587 lb
Material Type : Sheet Metal

54500-N9000

HY6116J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Weight : 4,044 kg  / 8.915 lb
Material Type : Sheet Metal

54500-N9000*

KI11021

BUSH INNER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,596 kg  / 1.314 lb

54501-N9000*

KI11022

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,422 kg  / 0.930 lb

54501-N9000*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

12 info@riw.com.tr



ISUZU

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

13 info@riw.com.tr



ISUZU

TROOPER 1992 - 2002

Image Product Code and Description Details OEM

IS4004

LINK STABILIZER REAR

Weight : 0,311 kg  / 0.686 lb
Material Type : Metal
Length : 91 mm  / 3.58 inch
Ball Pin Thread Size : M10X1,25

8970181251, 8970181252
MK80300

TROOPER II 1991 - 1998

Image Product Code and Description Details OEM

IS4004

LINK STABILIZER REAR

Weight : 0,311 kg  / 0.686 lb
Material Type : Metal
Length : 91 mm  / 3.58 inch
Ball Pin Thread Size : M10X1,25

8970181251, 8970181252
MK80300

TROOPER III 1998 - 2002

Image Product Code and Description Details OEM

IS4004

LINK STABILIZER REAR

Weight : 0,311 kg  / 0.686 lb
Material Type : Metal
Length : 91 mm  / 3.58 inch
Ball Pin Thread Size : M10X1,25

8970181251, 8970181252
MK80300

VEHICROSS 1997 - 2001

Image Product Code and Description Details OEM

IS4004

LINK STABILIZER REAR

Weight : 0,311 kg  / 0.686 lb
Material Type : Metal
Length : 91 mm  / 3.58 inch
Ball Pin Thread Size : M10X1,25

8970181251, 8970181252
MK80300

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

14 info@riw.com.tr



KIA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

15 info@riw.com.tr



KIA

K5 DL3 2021 - 

Image Product Code and Description Details OEM

KI2039

TIE ROD END RH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56825-P2000

KI2040

TIE ROD END LH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56820-P2000

SORENTO IV MQ4 2020 - 

Image Product Code and Description Details OEM

KI1020

BALL JOINT FRONT LOWER Weight : 0,952 kg  / 2.099 lb 54500-P2000*, 54501-P2000*

KI2039

TIE ROD END RH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56825-P2000

KI2040

TIE ROD END LH
Weight : 0,734 kg  / 1.618 lb
Length : 213 mm  / 8.39 inch

56820-P2000

KI6067

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 5,525 kg  / 12.181 lb
Material Type : Sheet Metal

54501-P2000, 54501-P2050

KI6067J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

Weight : 4,565 kg  / 10.064 lb
Material Type : Sheet Metal

54501-P2000*, 54501-P2050*

KI6068

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 5,525 kg  / 12.181 lb
Material Type : Sheet Metal

54500-P2000, 54500-P2050

KI6068J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Weight : 4,565 kg  / 10.064 lb
Material Type : Sheet Metal

54500-P2000*, 54500-P2050*

KI11021

BUSH INNER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,596 kg  / 1.314 lb

54501-N9000*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

16 info@riw.com.tr



KIA

SORENTO IV MQ4 2020 - 

Image Product Code and Description Details OEM

KI11022

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,422 kg  / 0.930 lb

54501-N9000*

SPORTAGE V 2022 - 

Image Product Code and Description Details OEM

HY6115

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 4,802 kg  / 10.587 lb
Material Type : Sheet Metal

54501-N9000

HY6115J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

Weight : 4,044 kg  / 8.915 lb
Material Type : Sheet Metal

54501-N9000*

HY6116

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 4,802 kg  / 10.587 lb
Material Type : Sheet Metal

54500-N9000

HY6116J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

Weight : 4,044 kg  / 8.915 lb
Material Type : Sheet Metal

54500-N9000*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

17 info@riw.com.tr



PEUGEOT

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

18 info@riw.com.tr



PEUGEOT

208 II 2019 - 

Image Product Code and Description Details OEM

PE4020

LINK STABILIZER FRONT RH
Weight : 0,401 kg  / 0.884 lb
Material Type : Metal

9836842480

PE4021

LINK STABILIZER FRONT LH
Weight : 0,401 kg  / 0.884 lb
Material Type : Metal

9836849580

E-208 P21 2019 - 

Image Product Code and Description Details OEM

PE4020

LINK STABILIZER FRONT RH
Weight : 0,401 kg  / 0.884 lb
Material Type : Metal

9836842480

PE4021

LINK STABILIZER FRONT LH
Weight : 0,401 kg  / 0.884 lb
Material Type : Metal

9836849580

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

19 info@riw.com.tr



NOTES



NOTES

Product Code Additional Information

HN4090
LINK STABILIZER FRONT RH

e:HEV

HN4091
LINK STABILIZER FRONT LH

e:HEV


